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Kelly has 534 beads and Mary has 767 beads. About how many beads do they have altogether? Estimate the sum.


�





Donald has 3 quarters, 4 dimes, and 9 nickels. Bobby has 5 quarters, 3 dimes, and 7 nickels. Who has more money? How much more money does he have? 


�








Lisa says that 8x5=42. Is she correct? Use a multiplication strategy to help you explain how you know. 








Find the missing addend in the following number sentence. Explain how you know.


136+b=289  





Mr. Wilson has twenty-eight students in his class. He wants to divide them into four equal groups. How many students will be in each group? Draw a picture.














